5? % (@ Tinh nhén tir ciia da thirc bac hai

Tén: Ngay thang: Piém:
2% — 1lx+5 X — 13x+40

3% + 30x + 72 2 —17x—9

X —7x—18 26+ 13x— 7

7x® — 48x + 36 S5x? + 34x— 48

4% + 24x — 108 6x° — 84x + 288
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&[? ﬁ @ Tinh nhén tir ciia da thirc bac hai

Tén: Ngay thang: Piém:
2% — 11x+5 x* — 13x+ 40
2x— 1)(x— 5) (x— 5)(x— 8)
3x% + 30x + 72 2% —17x—9
3x+ 6)(x+4) 2x+ DH(x—9)
x* —Tx—18 2%+ 13x—7
(x— 9)(x +2) 2x— Dx+7)
7 — 48x + 36 5x% + 34x — 48
(7x— 6)(x — 6) (5x— 6)(x+ 8)
4% + 24x— 108 6x” — S4x + 288
4(x—3)(x+9) 6(x — 8)(x — 6)
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